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1. Match the division to the fraction.

3+5 =
216 2
2+ 3 Z
6+ 2 2
5+ 3 2

2. Owen has 7 ounces of coconut. He divides the coconut equally
among 3 bowls of oatmeal. How many ounces of coconut does
Owen put on each bowl of oatmeal?

3. Frieda has 2 apples to share among 2 people. How much apple
does each person get?



Would you write the quotient for the problem with a remainder or
as a mixed number?

1.

Benita walked a certain number of miles last week. She walked
the same number of miles each day.

A. mixed number B. remainder

Denise made some necklaces. She gave the same number of
necklaces to her friends.

A. mixed number B. remainder



Lucia has 4 tortillas. She cuts each tortilla to make tortilla chips.
Each chip is % of a tortilla. How many tortilla chips can Lucia

make? Use the representation to solve.

A pizzeria serves its slices of pizza as % of a whole pizza. How

many slices of pizza can the pizzeria serve from 2 whole pizza?
Use the representation to solve.

o0



Which is the quotient?
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Which division equation is shown by the model?




Which is the quotient?

1. %+5?
3
A. 15 B. 2
5 1
C. 3 D. I
2. ;+8?
. g8
1 1
A o B. 3
c. 2 D. 32

3. Sonya buys % pound of lunch meat. She uses the lunch meat to

make 2 sandwiches. How much lunch meat does Sonya use on
each sandwich?



Complete the equation.

. _5 - =B
2. s =2 3. . ==
4. 3+8= 5. 7+9=
6 X7=7<3 7 tx5=154

8. A farmer pours 3 pounds of
chicken feed equally into 4 bags.
What is the weight of the chicken
feed in each bag?

3
A. zpound
B. 1%pounds
C. %pounds
D

1
k 13 pounds



Solve each problem. If there is a remainder, decide how to
represent and interpret the remainder.

1. Grace walked the number of miles shown over the
course of 7 days. She walked the same number of
miles each day. How many miles did she walk
each day?

2. There were 210 balloons at a fair. Each of the 50 children that
attended the fair got the same number of balloons. How many
balloons did each child get?



Would you write the quotient for the problem with a remainder or
as a mixed number?

4.

Equal amounts of juice are
poured into different glasses

A. remainder

B. mixed number

A dog is fed the same
amount of food every day.

A. remainder

B. mixed number

5.

The same number of books
must be put on each shelf.

A. remainder

B. mixed number

Someone gives out the

same number of flowers to
each of 5 friends.

A. remainder

B. mixed number



What is the quotient? Use a representation to solve.

.-—!—— ..:,....—1|-.—
1- 6- 3‘_' 2'- 9- 4_
3 ?—E— 4. 5+ =
0 . T -
5 4- 2_ 6-‘ 2 g"""



What is the quotient?

_1 — - .1_— - .1——

1 3 5- 2- 6 - 3- 3 4 - 4-
4. 7 - 2— 5- 12 - 3— 6. 9 S_
s P [ i
7-6. 6- 8- 10- 10_ 9 8 7_

.......................................................................................................................................................................................................

10. Keri is making trail mix that contains % cup of sunflowe

seeds per serving. How many servings can she make
with this bag?




What is the quotient? Use a representation to solve.

1. 3+4=__ 2. 5+9=__
A. % A o
B. 5 B. 3
C. = C. =
D. = D. =
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